
 1

ISO 11154-E

Kit 187137
CITROËN Dispatch, 4-dr Van, 16-
CITROËN Jumpy, 4-dr Van, 16-
CITROËN SpaceTourer, 5-dr Bus, 16-
FIAT Scudo, 4-dr Van, 22- 
FIAT Ulysse, 5-dr Bus, 22- 
OPEL Vivaro, 4-dr Van, 19-
OPEL Zafira Life, 5-dr Bus, 19-

80 km/h
50 Mph

5562359001

2 4

Max 130 km/h 
 80 Mph

10,5 kg 
21,1 Ibs

Max: 100 kg 
/ 220 lbs 14 kg 

30,8 Ibs

Max: 150 kg 
/ 330 lbs

PEUGEOT Expert, 4-dr Van, 16-
PEUGEOT Traveller, 5-dr Bus, 16-
TOYOTA ProAce, 4-dr Van, 16-
TOYOTA ProAce Verso, 5-dr Bus, 16-
VAUXHALL Vivaro, 4-dr Van, 19-
VAUXHALL Vivaro Life, 5-dr Bus, 19-



55623590012

KIT
1

KIT
2

KIT
2

KIT
2

1

2

1

1

2

2

Safety

Safety

x4069 x4004

x2
31335

This kit is only for vehicles with fixpoint mounting and without glass roof.

x4
30820

M6x30 mm

Kit 187010

x4068

x4
52821

x4004

x4
52821

x154692

x154692

068

004

Kit 187010 Kit 187010

069

004

760

EXT.
PAD

069

004

760

EXT.
PAD

KIT
1

KIT
1

760
x2

EXT.
PAD

x2

M6x55 mm

M6x40 mm

M6x55 mmM6x55 mm

x4

068

004

50108



5562359001 3

x1

1

2

KIT
2

1

2

2

Kit 187010

4

3

x2

x2

8 Nm

x2

M6x55 mm

x2

Instructions

2 2



55623590014

KIT
1

KIT
2

1

2

1

1

2

2

Safety

Safety

x4069 x4004

This kit is only for vehicles with fixpoint mounting and without glass roof.

x4
30820

M6x30 mm

Kit 187010

x4068

x4
52821

x4004

x4
52821

x154692

x154692

760
x2

EXT.
PAD

x2

50108

31335

x2

M6x55 mm

M6x40 mm

x4



5562359001 5

069

004

069

004

KIT
1

KIT
1

069

004

760

EXT.
PAD

069

004

760

EXT.
PAD

KIT
1

KIT
1

M6x40 mm M6x40 mm

M6x55 mmM6x55 mm

KIT
2

KIT
2

068

004

Kit 187010 Kit 187010

068

004



55623590016

1

2

KIT
2

1

2

2

Kit 187010

3

4

x4

x2

8 Nm

x1x2

M6x40 mm

x2



5562359001 7

A B

Instructions

2 2

x1

5

x2

x2

8 Nm

M6x55 mm

x2



Thule Sweden AB, Borggatan 5
335 73 Hillerstorp, SWEDEN

www.thule.cominfo@thule.com

 © Thule Group 2022. All rights reserved. 5562359001


